Pre-Calculus (A) Name : \(6\3
Section 4.8 (Bearings) Homework Date :

P 18h%3d = 30m o 65" east of SOUTh
A" 1. An airplane travels at 185 km per hour for 2 hours in a direction of S 68° E of Glenview

W
Naval Air Station. At the end of this time, how far east of the Glenview Naval Air Station is
the plane? (nearest kilometer).
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\/\u 2. Two lighthouses are located on a north-south line; lighthouse A is north of lighthouse B.

From lighthouse A, the bearlng of a shlp 3,742 meters away is 129° 43’. From lighthouse B,
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W 3. An airplane flies on a course of S 30° E for 150 km. How far south is the plane from where

it originated? ) siNEL: §
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\\uw’él. Jean travels to school each day by walking 200 meters due East, and then turning left and
walking 100 meters due North. If she had walked in a straight line from home to school,

what would the bearing angle be from her home to school? From her school to home?
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\>\{,” 5. An airplane flying at 600 miles per hour has a bearing of 52°. After flying for 1.5 hours,

how far north and how far east has the plane traveled from its point of departure?
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\(\@@’ 6. City A is 30 miles due South of City B. City D is 45 miles due east of City A. What is the
bearing of City B from City D? (nearest tenth of a degree)
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Answers:

1) 343.1 km 2)5858.2mi 3)129.9km  4) Home to School : N63.4 E ; School to Home S 63.4 W

5) 709.2 mi east ; 554.1 mi north 6) N56.3W



